[image: ][image: ]
[image: ][image: ]



[image: ][image: ]
[bookmark: _GoBack][image: ]
image7.jpeg
nt+-2
3 (%) + nyntl
AV

C2d fh(.h’l)a"‘f' >

-)(}um-z
NJ

+2Y ™ (on+) + Yyl nen o £ o)
PRI
o

- MV“H(—),VH'O + YyNint i) = O

09 SPGB Gm ot

¥





image1.jpeg
‘ L 2 22t5 = B
e U MR B Kol WY E D)
So— 2 3
‘ e ——
e - 9 L Rt (TR e e
E ..o 5‘ =i oDl 7"
s, —
— \jl éx 5
P MR =N Coe ) i 2y —> Poven S5
b gﬁ = Yl o) - 2y =0
4 T S b '\Am\nj Labenbz oo overn
R — w' = lj}“
B \10:_43‘@;.1“)
. Wz = 2y
| RN AWQ eqpn = W= Wa W2 = O
B VO £
e e e iy
s T . el 2 V=0 gy
- .
ORI D u i . o) U T e % S <
B o IR &
. A
A2 v -
W, = EUME G = oy (€=))
N2

S

= Y'(2em\D

: x = 5 n
W= T e RV G i S vl Oy
Vg el SNARPIN

NS TS





image2.jpeg
B e s ot G Ty
o1 24

e ———





image3.jpeg
. @]

W\&p A}.ﬂ—bw
J g
1

5





image4.jpeg
DJ'

'z u
AR ) S
VAR )

v -

o

B venu v T 00D

Vel

. (/U?_z\‘jﬂﬂclel)f‘lﬂcj“

W2 Z‘j i caan) L2ne

nt| b s L
j L2neD) + dj“&) - aXCemO N MBI 2





image5.jpeg
DUV n DU (VD) £ nn-) (=207 B
o) 3!

N
W)._?_O“\ () + Y\j"‘ﬂ V\';\-'hcgr‘)'%?.(g"ro R MM 7 ol . st sl S L

T
e Uy ey oy
Ve A SRS

W Rugcy atls





image6.jpeg
Q\ = S & "2
Using  Labnibz  Hreorem S
Uf paieCs Ot pgd u“—¢té<’,‘*”‘1~u‘“=@4¢%

S
V. z o viz 3%z vi=6x! v‘.“’}, o e

N grwEnu T ) e Dun TR & e no2) UNTENC L Bes
24,
) =

Y

G = e s 034 8%k BoencozaE N DST L B

AR

302X 4t 3 (D41 A(n=DG=2))

Lo
. 0464 + 4fain +izanlo=) ol N AP
5. 1452 (e r 48251 F (12x5() +5EDED)

)52 (4 (64 240x* + 240% £36)
Y

£, (60 (o240 + 0% )





